

On the coefficients of starlike functions of some classes

by ZBIGNIEW JERZY JAKUBOWSKI (Łódź)

1. Let m, M be arbitrary fixed numbers which satisfy the condition $(m, M) \in D$, where $D = D_1 \cup D_2$,

$$D_1 = \{(m, M): \frac{1}{2} < m < 1, 1 - m < M \leq m\},$$

$$D_2 = \{(m, M): 1 \leq m, m - 1 < M \leq m\}.$$

Denote by $\mathfrak{F}_{m,M}$, $(m, M) \in D$, the family of all regular functions of the form

$$p(z) = 1 + \sum_{k=1}^{\infty} p_k z^k$$

defined in the circle $K = \{z: |z| < 1\}$ which satisfy in this circle the condition

$$|p(z) - m| < M.$$

The following sharp estimations

$$(1.1) \quad |p_n| \leq a + b, \quad n = 1, 2, \dots$$

with

$$(1.2) \quad a = (M^2 - m^2 + m) M^{-1}, \quad b = (m - 1) M^{-1}$$

have been found with the aid of the Clunie method [2] in [4].

The aim of this paper is to prove a more general theorem and then to employ it for finding the estimations of the coefficients of starlike functions of some classes.

2. Denote by Q the family of regular functions of the form

$$(2.1) \quad q(z) = \sum_{k=1}^{\infty} q_k z^k$$

which are defined in the circle K and satisfy the condition

$$(2.2) \quad |q(z)| < 1 \quad \text{for } z \in K.$$

Then $|q_k| \leq 1$, $k = 1, 2, \dots$, and if $|q_n| = 1$, then $q(z) = \varepsilon z^n$, $|\varepsilon| = 1$.

Suppose we are given regular functions $g(z)$ and $h(z)$ of the form

$$(2.3) \quad g(z) = \sum_{k=0}^{\infty} g_k z^k, \quad h(z) = \sum_{k=0}^{\infty} h_k z^k$$

defined in the circle K with $g_0 = h_0 \neq 0$ or $g_0 = h_0 = 0$ and $g_1 = h_1 \neq 0$. Assume, moreover, that $h(z) \neq 0$ for $z \in K$, $z \neq 0$ and that

$$(2.4) \quad |g(z)h^{-1}(z) - m| < M \quad \text{for every } z \in K.$$

Then there exists a function $q \in Q$ such that (comp. [4])

$$(2.5) \quad g(z)h^{-1}(z) = [1 + aq(z)][1 - bq(z)], \quad z \in K,$$

with a and b defined by formulas (1.2) and $(m, M) \in D$. Conversely, for an arbitrary function $q \in Q$ there exist a pair of functions satisfying all the conditions mentioned above.

We shall prove the following

THEOREM 1. *For every fixed pair $(m, M) \in D$ and every fixed pair of functions $g(z)$ and $h(z)$ satisfying conditions (2.3), (2.4) and (2.5), the following conditions hold:*

$$(2.6) \quad g_1 - h_1 = (a + b)g_0q_1,$$

$$(2.7) \quad g_n - h_n = (a + b)g_0q_n + \sum_{k=1}^{n-1} (ah_k + bg_k)q_{n-k}, \quad n = 2, 3, \dots,$$

and

$$(2.8) \quad |g_1 - h_1|^2 \leq (a + b)^2 |g_0|^2,$$

$$(2.9) \quad |g_n - h_n|^2 \leq (a + b)^2 |g_0|^2 - \sum_{k=1}^{n-1} A_k, \quad n = 2, 3, \dots,$$

and

$$(2.10) \quad \sum_{k=1}^{\infty} A_k \leq (a + b)^2 |g_0|^2$$

with

$$(2.11) \quad A_k = |g_k - h_k|^2 - |ah_k + bg_k|^2, \quad k = 1, 2, \dots$$

Proof. (2.1), (2.3) and (2.5) yield the identity

$$(2.12) \quad \sum_{k=1}^{\infty} (g_k - h_k)z^k = \left[(a + b)g_0 + \sum_{k=1}^{\infty} (ah_k + bg_k)z^k \right] \left(\sum_{k=1}^{\infty} q_k z^k \right), \quad z \in K.$$

Equating the corresponding coefficients, we get relationships (2.6) and (2.7).

Since $|q_1| \leq 1$, from relationship (2.6) we obtain inequality (2.8). For $n \geq 2$ identity (2.12) may be written in the form

$$\sum_{k=1}^n (g_k - h_k)z^k + \sum_{k=n+1}^{\infty} d_k z^k = \left[(a + b)g_0 + \sum_{k=1}^{n-1} (ah_k + bg_k)z^k \right] q(z),$$

where the coefficients d_k have been chosen suitably. Making use of condition (2.2), we find in the circle K the condition

$$\left| \sum_{k=1}^n (g_k - h_k) z^k + \sum_{k=n+1}^{\infty} d_k z^k \right|^2 < \left| (a+b)g_0 + \sum_{k=1}^{n-1} (ah_k + bg_k) z^k \right|^2.$$

Assume $z = re^{it}$, $0 < r < 1$, $0 \leq t \leq 2\pi$ and integrate the resulting inequality in the interval $\langle 0, 2\pi \rangle$. Then we find the inequality

$$\sum_{k=1}^n |g_k - h_k|^2 r^{2k} + \sum_{k=n+1}^{\infty} |d_k|^2 r^{2k} < (a+b)^2 |g_0|^2 + \sum_{k=1}^{n-1} |ah_k + bg_k|^2 r^{2k}.$$

Hence we get

$$\sum_{k=1}^n |g_k - h_k|^2 r^{2k} < (a+b)^2 |g_0|^2 + \sum_{k=1}^{n-1} |ah_k + bg_k|^2 r^{2k}.$$

Passing to the limit as $r \rightarrow 1$ and taking into consideration estimations (2.11), we hence obtain inequality (2.9).

Employing condition (2.2) immediately in identity (2.12), by a similar argument we deduce inequality (2.10).

Remark. Estimation (1.1) immediately follows from inequalities (2.8) and (2.9). Because assuming $g(z) = p(z)$, $p \in \mathfrak{P}_{m,M}$, $h(z) = 1$ ($g_0 = h_0 = 1$, $g_k = p_k$, $h_k = 0$, $k = 1, 2, \dots$) since for $(m, M) \in D$, we have $|b| < 1$, therefore $A_k = (1 - b^2) |p_k|^2 \geq 0$ for $k = 1, 2, \dots$. Thus $|p_n|^2 \leq (a+b)^2$ for $n = 1, 2, \dots$. But if $(m, M) \in D$, then $a+b > 0$; therefore estimation (1.1) is true.

From Theorem 1 we get

COROLLARY 1. *If for given m, M, g, h all the terms A_k are non-negative, then*

$$(2.13) \quad |g_n - h_n| \leq (a+b) |g_0|, \quad n = 1, 2, \dots,$$

equality being the case only if $A_k = 0$ for $k = 1, 2, \dots$

COROLLARY 2. *If for given m, M, g, h there exists an index N ($N = 3, 4, \dots$) such that $A_k \leq 0$ for $k = 1, 2, \dots, N-2$ and $A_k \geq 0$ for $k = N-1, N, \dots$, then the following estimations hold:*

$$(2.14) \quad |g_{n-1} - h_{n-1}|^2 \leq \begin{cases} (a+b)^2 |g_0|^2, & n = 2, \\ (a+b)^2 |g_0|^2 - \sum_{k=1}^{n-2} A_k, & n = 3, 4, \dots, N, \\ (a+b)^2 |g_0|^2 - \sum_{k=1}^{N-2} A_k, & n = N+1, N+2, \dots \end{cases}$$

3. Consider the class \tilde{S} of all regular functions

$$(3.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k$$

defined in the circle K . Let m, M, α, β be arbitrary fixed numbers satisfying the conditions $(m, M) \in D$, $\alpha \in \langle 0, 1 \rangle$, $\beta \in (-\frac{1}{2}\pi, \frac{1}{2}\pi)$. Denote by $S_{m, M}^*(\alpha, \beta)$ the subclass of the family \tilde{S} of functions satisfying at every point of the circle K the inequality

$$(3.2) \quad |[zf'(z)f^{-1}(z)e^{i\beta} - i\sin\beta - \alpha\cos\beta](1-\alpha)^{-1}\cos^{-1}\beta - m| < M.$$

We introduce the following notation:

$$(3.3) \quad A = (a+b)(1-a)\cos\beta,$$

$$(3.4) \quad k_0 = A(b\cos\beta + (1-b^2\sin^2\beta)^{1/2})(1-b^2)^{-1},$$

$$(3.5) \quad N = [k_0] + 2,$$

$$(3.6) \quad B = (1-\alpha)^{-1}\cos^{-1}\beta[(1-m)(1-\alpha)+1]^2\cos^2\beta + \sin^2\beta)^{1/2}$$

with a and b defined by formulas (1.2). We will prove

THEOREM 2. *Let f be an arbitrary function of the family $S_{m, M}^*(\alpha, \beta)$. If $(m, M) \in D$ and $M \leq B$, then*

$$(3.7) \quad |a_n| \leq A(n-1)^{-1}, \quad n = 2, 3, \dots$$

If, on the other hand, $(m, M) \in D$ and $M > B$, then

$$(3.8) \quad |a_n| \leq \frac{1}{(n-1)!} \prod_{k=0}^{n-2} |A + kbe^{i\beta}|, \quad n = 2, \dots, N,$$

and

$$(3.9) \quad |a_n| \leq \frac{1}{(n-1)(N-2)!} \prod_{k=0}^{N-2} |A + kbe^{i\beta}|, \quad n = N+1, \dots$$

Estimations (3.7) and (3.8) are sharp, the equality sign being realized for the functions

$$(3.10) \quad f(z) = z \exp\left(\varepsilon A e^{-i\beta} \frac{z^{n-1}}{n-1}\right),$$

$$|\varepsilon| = 1 \quad \text{when } M \leq B \text{ and } b = 0,$$

$$(3.11) \quad f(z) = z(1 - b\varepsilon z^{n-1})^{-Ab^{-1}(n-1)^{-1}e^{-i\beta}},$$

$$|\varepsilon| = 1 \quad \text{when } M \leq B \text{ and } b \neq 0,$$

$$(3.12) \quad f(z) = z(1 - \varepsilon bz)^{-Ab^{-1}e^{-i\beta}}, \quad |\varepsilon| = 1 \quad \text{when } M > B$$

respectively. Moreover,

$$(3.13) \quad \sum_{k=1}^{\infty} [k^2 - |A + kbe^{i\beta}|^2] |a_{k+1}|^2 \leq A^2.$$

Proof. Since $f \in S_{m,M}^*(\alpha, \beta)$, it follows from (3.2) that the functions

$$(3.14) \quad g(z) = f'(z)e^{i\beta} - (i\sin\beta + \alpha\cos\beta)f(z)/z,$$

$$(3.15) \quad h(z) = (1 - \alpha)\cos\beta \cdot f(z)/z$$

satisfy the assumptions of Theorem 1. From formulas (2.3), (3.1), (3.14) and (3.15) we obtain

$$g_0 = h_0 = (1 - \alpha)\cos\beta, \quad h_k = a_{k+1}(1 - \alpha)\cos\beta, \\ g_k = h_k + ke^{i\beta}a_{k+1}, \quad k = 1, 2, \dots$$

Thus by (2.6)-(2.11) and (3.3) we find the relationships

$$(3.16) \quad a_2e^{i\beta} = Aq_1,$$

$$(3.17) \quad (n - 1)a_n e^{i\beta} = Aq_{n-1} + \sum_{k=1}^{n-2} (A + kbe^{i\beta})a_{k+1}q_{n-k-1}, \quad n = 3, 4, \dots,$$

$$(3.18) \quad |a_2| \leq A,$$

$$(3.19) \quad (n - 1)^2|a_n|^2 \leq A^2 - \sum_{k=1}^{n-2} |a_{k+1}|^2 B_k, \quad n = 3, 4, \dots,$$

$$(3.20) \quad \sum_{k=1}^{\infty} B_k |a_{k+1}|^2 \leq A^2,$$

where

$$(3.21) \quad B_k = k^2 - |A + kbe^{i\beta}|^2 = (1 - b^2)k^2 - 2Abk\cos\beta - A^2,$$

$$k = 1, 2, \dots$$

If $n = 2$, estimations (3.7) and (3.8) result immediately from inequality (3.18). Because of (3.16) equality can be the case only if $|q_1| = 1$, i.e. if function (2.1) is of the form $g(z) = \varepsilon z$, $|\varepsilon| = 1$. Thus relationships (2.5), (3.14) and (3.15) imply formulas (3.10)-(3.12).

Let $n \geq 3$. The polynomial $(1 - b^2)x^2 - 2Abx\cos\beta - A^2$ has two roots, x_1 and $x = k_0$ (comp. (3.4)) and $x_1 < 0$, $x_2 > 0$.

If $M \leq B$, then by (3.4) and (3.6) we have $k_0 \leq 1$; thus it follows from (3.21) that $B_1 \geq 0$ and $B_k > 0$, $k = 2, 3, \dots$. Thus estimation (3.7) for $n \geq 3$ is immediately obtained from inequalities (3.19) (comp. Corollary 1). The extremal functions are here of form (3.10) or (3.11) according as $b = 0$ or $b \neq 0$.

If $M > B$, then $k_0 > 1$; thus $B_1, \dots, B_{N-2} \leq 0$ and $B_{N-1}, \dots > 0$, where N is defined by formula (3.5). Thus from (3.19) we get the following inequality (comp. Corollary 2):

$$(n - 1)^2|a_n|^2 \leq A^2 - \sum_{k=1}^{n-2} |a_{k+1}|^2 B_k \quad \text{for } n = 3, \dots, N$$

and

$$(n-1)^2 |a_n|^2 \leq A^2 - \sum_{k=1}^{N-2} |a_{k+1}|^2 B_k \quad \text{for } n = N+1, \dots$$

Employing the estimation $|a_2| \leq A$ and notation (3.21) from the first of these inequalities we get estimation (3.8), while the second implies inequality (3.9).

Since functions (3.10)-(3.12) belong to the class of functions under consideration, estimations (3.7) and (3.8) are sharp.

The last part of the assertion, inequality (3.13), results immediately from relations (3.20) and (3.21).

4. Some results obtained earlier by other authors can be obtained immediately from Theorem 2. So, assuming in this theorem in succession $m = M \geq 1$, $\alpha = 0$, $\beta = 0$ and $m = M \geq 1$, $\alpha \in (0, 1)$, $\beta \in (-\frac{1}{2}\pi, \frac{1}{2}\pi)$, we have the results published in papers [5] and [10].

In particular, we also have the following corollaries.

COROLLARY 3 [7]. *If $f \in S_{\infty, \infty}^*(\alpha, \beta)$ (β -spiral starlike functions of order α), then*

$$(4.1) \quad |a_n| \leq \frac{1}{(n-1)!} \prod_{k=0}^{n-2} |2(1-\alpha)\cos\beta + ke^{i\beta}|, \quad n = 2, 3, \dots$$

In particular, assuming $\alpha = 0$, we find the estimation of the modulus of the coefficients [15] in the class of spiral starlike functions [13].

COROLLARY 4 [12]. *If $f \in S_{\infty, \infty}^*(\alpha, 0)$ (starlike functions of order α) then*

$$(4.2) \quad |a_n| \leq \frac{1}{(n-1)!} \prod_{k=0}^{n-2} (2(1-\alpha) + k), \quad n = 2, 3, \dots$$

Assuming $\alpha = 0$, we obtain the estimation of the coefficients [9] in the family S^* of all starlike functions [1]. Estimations (4.1) and (4.2) are sharp, the extremal functions being of the form

$$f(z) = z(1 - \varepsilon z)^{-2(1-\alpha)e^{-i\beta}\cos\beta}, \quad |\varepsilon| = 1$$

and

$$f(z) = z(1 - \varepsilon z)^{-2(1-\alpha)}, \quad |\varepsilon| = 1$$

respectively.

Assuming, in Theorem 2, $m = 1$ ($0 < M \leq 1$), we obtain

COROLLARY 5. *If $f \in S_{1, M}^*(\alpha, \beta)$, then*

$$|a_n| \leq (n-1)^{-1} M(1-\alpha)\cos\beta, \quad n = 2, 3, \dots,$$

the extremal function being of the form

$$f(z) = z \exp(\varepsilon M(1-\alpha) \frac{z^{n-1}}{n-1} e^{-i\beta}\cos\beta), \quad |\varepsilon| = 1.$$

In particular, we get the well-known estimation $|a_n| \leq (n-1)^{-1}$, $n = 2, 3, \dots$, [10] in the class $S_{1,1}^*(0, 0)$.

5. Denote by \hat{S} the well-known family of convex functions [14] of the form

$$(5.1) \quad F(z) = z + \sum_{k=2}^{\infty} b_k z^k, \quad z \in K.$$

It is known ([3], p. 204) that $F \in \hat{S}$ if and only if the function

$$(5.2) \quad f(z) = zF'(z)$$

belongs to the class S^* .

Consider the family $\hat{S}_{m,M}(\alpha, \beta)$ of functions of form (5.1) which satisfy in the circle K the condition

$$\left| [(zF''(z) + F'(z))F'^{-1}(z)e^{i\beta} - i \sin \beta - \alpha \cos \beta] (1-\alpha)^{-1} \cos^{-1} \beta - m \right| < M.$$

Then function (5.2) belongs to the family $S_{m,M}^*(\alpha, \beta)$. Since $a_k = kb_k$, $k = 2, 3, \dots$, from Theorem 2 we obtain

COROLLARY 6. *Let F be an arbitrary function of the family $\hat{S}_{m,M}(\alpha, \beta)$. If $(m, M) \in D$ and $M \leq B$, then*

$$(5.3) \quad |b_n| \leq \frac{A}{n(n-1)}, \quad n = 2, 3, \dots$$

If, on the other hand, $(m, M) \in D$ and $M > B$, then

$$(5.4) \quad |b_n| \leq \frac{1}{n!} \prod_{k=0}^{n-2} |A + kbe^{i\beta}|, \quad n = 2, \dots, N,$$

and

$$|b_n| \leq \frac{1}{n(n-1)(N-2)!} \prod_{k=0}^{N-2} |A + kbe^{i\beta}|, \quad n = N+1, N+2, \dots$$

Estimations (5.3) and (5.4) are sharp, the extremal functions being of the form $F(z) = \int_0^z f(z)z^{-1} dz$ with $f(z)$ defined by formulas (3.10)-(3.12) respectively.

Moreover,

$$\sum_{k=1}^{\infty} [k^2 - |A + kbe^{i\beta}|^2] (k+1)^2 |b_{k+1}|^2 \leq A^2.$$

COROLLARY 7. *If $F \in \hat{S} = \hat{S}_{\infty, \infty}(0, 0)$, then the sharp estimation [8] $|b_n| \leq 1$, $n = 2, 3, \dots$, holds.*

6. Let F denote the family of all regular and univalent functions

$$(6.1) \quad F(z) = z^{-1} + \sum_{k=1}^{\infty} a_k z^k$$

defined in the ring $Q = \{z: 0 < |z| < 1\}$.

We know the subclasses of the family F : 1° the subclass $F^*(a)$, $0 \leq a < 1$ of starlike functions of order a , 2° the subclass $F^*(a, \beta)$, $0 \leq a < 1$, $-\frac{1}{2}\pi < \beta < \frac{1}{2}\pi$ of β -spiral starlike functions of order a and others.

Denote by $F_{m,M}^*(a, \beta)$, $(m, M) \in D$ the family of regular functions of form (6.1) defined in the ring Q and such that

$$|[-zF'(z)F^{-1}(z)e^{i\beta} - i\sin\beta - a\cos\beta](1-a)^{-1}\cos^{-1}\beta - m| < M \quad \text{for } z \in Q.$$

Applying Theorem 1 (and, in particular, Corollary 1) to the function

$$\begin{aligned} g(z) &= -z[zF'(z)e^{i\beta} + (i\sin\beta + a\cos\beta)F(z)] \\ &= (1-a)\cos\beta - \sum_{k=1}^{\infty} [ke^{i\beta} + i\sin\beta + a\cos\beta]a_k z^{k+1}, \\ h(z) &= z(1-a)\cos\beta \cdot F(z) = (1-a)\cos\beta + (1-a)\cos\beta \sum_{k=1}^{\infty} a_k z^{k+1}, \end{aligned}$$

by a similar argument as in the proof of Theorem 2 we obtain

THEOREM 3. *If $F \in F_{m,M}^*(a, \beta)$, then*

$$(6.2) \quad |a_n| \leq A(n+1)^{-1}, \quad n = 1, 2, \dots,$$

and

$$\sum_{k=2}^{\infty} [k^2 - |A - bke^{i\beta}|^2] |a_{k-1}|^2 \leq A^2,$$

where $A = (a+b)(1-a)\cos\beta$, a and b are defined by formulas (1.2).

Estimations (6.2) are sharp. The extremal functions are of the form

$$F(z) = z^{-1}(1 - \varepsilon bz^{n+1})^{Ab^{-1}(n+1)^{-1}e^{-i\beta}}, \quad |\varepsilon| = 1 \quad \text{when } b \neq 0$$

or

$$F(z) = z^{-1} \exp\left(-A\varepsilon e^{-i\beta} \frac{z^{n+1}}{n+1}\right), \quad |\varepsilon| = 1 \quad \text{when } b = 0.$$

In particular, the known estimations in the classes $F_{M,M}^*(a, \beta)$ and $F_{M,M}^*(a, 0)$, $M \geq 1$, [6] can be obtained from Theorem 3. In the family $F_{\infty,\infty}^*(a, 0)$ we obtain the sharp estimations [6]

$$(6.3) \quad |a_n| \leq 2(1-a)(n+1)^{-1}, \quad n = 1, 2, \dots,$$

and the inequality [11]

$$\sum_{k=2}^{\infty} (k-1+a) |a_{k-1}|^2 \leq 1-a.$$

Result (6.3) for $a = 0$ has been obtained earlier by Clunie [2].

References

- [1] J. W. Aleksander, *Functions which map the interior of the unite circle upon simple regions*, *Ann. of Math.* 17 (1915–1916), p. 12–22.
- [2] J. Clunie, *On meromorphic schlicht functions*, *J. London Math. Soc.* 34 (1959), p. 215–216.
- [3] G. M. Gołuzin, *Geometriczeskaja teoria funkeji kompleksnowo pieriemiennowo*, Moskwa 1966.
- [4] Z. J. Jakubowski, *On some applications of the Clunie method*, *Ann. Polon. Math.* 26 (1972), p. 211–217.
- [5] W. Janowski, *Extremal problems for a family of functions with positive real part and for some related families*, *Bull. Acad. Polon. Sci., Sér. sci. math., Astr. et Phys.* 17 (1969), p. 633–637.
- [6] J. Kaczmariski, *On the coefficients of some classes of starlike functions*, *ibidem* 17 (1969), p. 495–501.
- [7] R. J. Libera, *Univalent α -spiral functions*, *Canad. J. Math.* 19 (1967), p. 449–456.
- [8] K. Löwner, *Untersuchungen über die Verzerung bei konformen Abbildungen des Einheitskreizes $|z| < 1$, die durch Funktionen mit nicht verschwindender Ableitung geliefert werden*, *Leipzig Ber.* 69 (1917), p. 89–106.
- [9] R. Nevanlina, *Über die konforme Abbildung von Sterngebieten*, *Öfvers Finska Vet. Soc. Förh.* 53 (A) (1921), No. 6.
- [10] W. Plaskota, *On the coefficients of some families of regular functions*, *Bull. Acad. Polon. Sci., Sér. sci. math., astr. et phys.* 17 (1969), p. 715–718.
- [11] Ch. Pomeranke, *On meromorphic starlike functions*, *Pacific J. Math.* 13 (1963), p. 221–235.
- [12] M. S. Robertson, *On the theory of univalent functions*, *Ann. of Math.* 37 (1937), p. 364–408.
- [13] L. Špaček, *Contribution à la théorie des fonctions univalentes*, *Čas. Pešt. Math.* 62 (1932), p. 12–19.
- [14] E. Study, *Vorlesungen über ausgewählte Gegenstände der Geometrie*, Zweiter Helf, *Konforme Abbildung einfachzusammenhängender Bereiche*, Leipzig und Berlin 1913.
- [15] J. Zamorski, *About the extremal spiral schlicht functions*, *Ann. Polon. Math.* 9 (1962), p. 265–273.

MATHEMATICAL INSTITUTE, UNIVERSITY OF ŁÓDŹ

Reçu par la Rédaction le 16. 4. 1971
